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PART -1: GENERAL ENGLISH

Can we go this way to reach the Post Office?

RS W L

(1) seeking information (2) making arequest

(3) seeking permission (4) making a suggestion

What made Maya Bazaar a land mark movie?

(1) Direction of K.V. Reddy (2) Dialogues of Pingali Nagendra
(3) Sterling performances of stars (4) Alltheabove

Combine the following sentences using ‘neither-nor’.
Mr. Rao is not attending the meeting. Mr. Prabhu is not attending either.

(1) Neither Mr. Rao is attending the meeting nor Mr. Prabhu is attending the meeting.
(2) Neither Mr. Rao nor Mr. Prabhu is attending the meeting.

(3) Neither is Mr. Rao nor is Mr. Prabhu attending the meeting. .

(4) Mr. Rao is neither attending the meeting nor Mr. Prabhu is attending the meeting.

What is the theme behind the lesson “I will Do It”?

(1) Narayana Murthy’s achievement of 117 seat.

(2) A person needs support from the family to achieve something in life.
(3) Every person has success and failure in life.

(4) One who is intellectually and ethically strong can become an icon of success, even
though from an ordinary family.

“My laugh in the mirror shows .only my teeth like a snake’s bare fangs!”.
What is the figure of speech in the above lines?
(1) Metaphor (2) Simile (3) Alliteration (4) Personification

He was in reality a very simple and unassuming man with a subtle sense of humour, What is
the synonym of the underlined word?

(1) smooth (2) unnecessary  (3) unnoticeable (4) intolerable

‘Bye! see you again’ ..... This expression fits well for a
(1) Diary entry (2) Conversation
(3) Article writing (4) Advertisement

Find out the wrongly spelt word.

(1) elegance (2) speculation (3) governance (4) occasion
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9. ‘IfI were you, I would donate half of my money to the poor’. This is the best example for
(1) complementing (2) suggesting
(3) accusing (4) thanking

10. What do we call ‘a person who is responsible for a problem or a crime’?
(1) Publisher (2) Massive (3) Culprit (4) Cardiologist

11. Heis about technology.

Fill the above blank with suitable options given below.
(1) ignorant (2) innocent (3) indecent (4) inefficient

12. List out the positive qualities from the following.

a) selfcentred b) imaginative c) affable d) reliable
(1) (a)and(d) (2) (b),(c)and(d)
(3) (b)only (4) (c)and(d)
13. Whatkind of a person was Elizabeth Jordan?
(1) witty (2) complacent (3) generous (4) humorous

14. What is well explained through ‘A tale of three villages’?
(1) how to overcome pollution '
(2) what are the precautions to be taken to stop pollution
(3) how ‘Pollution’ could affect the environment and mankind
(4) the flourishing of factories in villages

15. Identify the quantifier that best fits in the blank given below.

Pollution is such a grave problem that __ person has to think about it.

(1) all (2) any (3) no (4) every
16. Which of the following are alliteratives?

a) hodge-podge b) tip-top

c) itsy-bitsy ‘ d) tick-tock

e) see-saw

(1) (a)and(b) (2) (a)and(c)

(3) (b),(d)and (e) , (4) (a)and(e)
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What was the writer’s intention in portraying the story “What is My Name’?
(1) the basic identity of women at home and in the society.

(2) how to overcome the problem of men domination.

(3) how to keep the house clean and design muggulu.

(4) how to bring up children efficiently.

18.

‘Please take your seat!” This expression means —
(1) giving permission (2) requesting permission
(3) making an offer (4) seeking permission

19.

Which of the following words comes first in dictionary?
(1) Fierce (2) Freak (3) Fuel (4) Fossil

20.

Change the voice :

Father has answered my phone call.

(1) My phone call has been answered by father.

(2) My phone call has answered by father.

(3) My phone call was answered by father.

(4) My father has been answered by my phone call.

2k

[t rained heavily. But we didn’t postpone the shooting.

-(Combine the sentences using ‘In spite of”)

(1) Inspite of it rained heavily, we didn’t postpone the shooting.
(2) Inspite of heavy rain, but we didn’t postpone the shooting.
(3) In spite of its rain, we didn’t postpone the shooting.

(4) Inspite of heavy rains, we didn’t postpone the shooting.

22

Choose the right prepositional phrase for the sentence given below.
Giri went to the station his father. :
(1) inplace of (2) bymeansof (3) inadditionto (4) alongwith

23.

Gowtham, who went abroad last year, came back to his motherland.

(Identify the type of clause in the sentence)

(1) Defining Relative Clause (2) Non-defining relative clause
(3) Ifclause : (4) Independent clause

24.

What is/are the important elements in Biographical sketch?

(1) Personal information (2) Career
(3) (1)and(2) (4) asignature
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25. The minimum characters necessary for a conversation are :

(1) 1only {2y 2 (3) morethantwo (4) alltheabove
26. Which are the elements included in a letter writing?

(1) Dateand address (2) Salutation and subscription

(3) Body of the letter. (4) All the above
27. The meeting is postponed So we resumed our usual work.

(Combine the sentences using ‘since’)

(1) Since we resumed our usual work, the meeting is postponed
(2) Since the meeting is postponed, we resumed our usual work.
(3) Since the meeting is postponed, so we resumed our usual work.
(4) The meeting is postponed since we resumed our usual work.

28. Which among the following is NOT a feature of a one act play?
(1) One setting (2) Minimal characters
(3) asubject/theme (4) Fantasy
29. Itwasa/an situation that left a lasting impression on the teacher.
(1) unforgettable (2) occasional (3) recalling (4) uncontrollable
30. “We don’t have enough basic needs like food, water and energy”. This statement shows —
(1) gratitude (2) adequacy (3) inadequacy (4) prediction
31. My little sister is fond fairy tales.
(Choose the right preposition)
(1) at (2) of (3) to (4) by
32. Combine the sentences using a relative clause.
The king presented his daughter a bird. It sang sweetly all day.
(1) Theking presented his daughter a bird who can sing sweetly all day.
(2) Theking who presented his daughter a bird sang sweetly all day.
(3) The king presented his daughter a bird which sang sweetly all day.
(4) The Kingy’s daughter sang sweetly with the bird all day.
33, The challengeo in our lives are there to strengthen our convictions.

(Find the synonym of the underlined).
(1) contentment (2) fears (3) beliefs (4) desires
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34. What does the narrative of colonel Sanders prove?
(1) One can’t earn more than 100 $ at the age of 65.
(2) One who doesn’t give up can achieve success even at 65.
(3) One can try mother’s recipe at the age of 65.
(4) One can knock atleast 10 doors only to receive an order for his recipe.

35. What was the philosophy behind the poem ‘Or will the Dreamer Wake’?
(1) The need for protection of Wild life.
(2) The need to incite the human being towards rehabilitation of animal world.

(3) The fear of extinction of animals.
(4) Alltheabove.

36. My austere father used to avoid all in essential comforts and luxuries.
(Find the antonym of underlined word)
(1) deny (2) expect
(3) accept (4) quit

37. What does the binomial “odds and ends” mean?
(1) difficulties (2) abigchoice
(3) unimportant things (4) anintegral part

38. What was Walt Disney’s invention?

(1) Mickey Mouse (2) Triode tube

(3) Electric bulb (4) Kentucky chicken
39. Ifyouinvited me, | attend the ceremony.

(1) had (2) would

(3) will (4) would have

40. They may not approve my request.
(Change into passive voice) '
(1) My request may not approve them.
(2) My request may not be approved.
(3) My request may approve them.
.« (4) My requestis not approved by them.

V-General English 7-A
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Question No. 41 to 45 : Read the following passage.

A teenage boy from a village moved to the city for a job to support his family. He applied
for a job in a big firm.

After some days, he went to attend the interview. He successfully cleared all the tests. The
hiring manager, “You are hired, give me your details for further processing. Also make sure that
your bike is in good condition, as you have to do a lot of travelling to meet the customers”.

The boy replied, “Sir, but I don’t have a bike with me”. Hiring Manager, “Without a bike,
you will not get this job, you can leave”.

The boy left the place thinking about what to do next. He had little money with him. But he
does not want to return to his village without a job. He came across a big vegetable market. He
sparked with an idea. He decided to buy vegetables and sell from door to door. This went well
with good profits, so he continued his hardwork and developed his business as a food chain
retailer.

After a few years, his friend visited his home and found many cars in the garage of his big
house. The business man’s friend asked, “‘You have a good collection of cars, do you have any
bikes?” The man smiled and replied, “If I had a bike, I wouldn’t have had these many cars. This is
my destiny”.

‘Answer the following questions :

41. Why did the boy move from village to city?
(1) togetmarried (2) toenjoylife (3) tofindajob (4) to find friends

42. What kind of job did the boy get?
(1) ajob to meet customers (2) ajob to look after the company
(3) ajob ofhiring manager (4) : he didn’t pass the interview

43. What was the reason he was not hired for the job?
(1) He didn’t clear all the tests
(2) Hedidn’t satisfy the hiring manager
(3) Hedidn’tlike travelling
(4) Hedidn’thave a bike

44. Whatdid the boy decide when the hiring manager refused to give him a job?
(1) The boy decided to leave the city
(2) Theboy decided to buy a bike
(3) The boy decided to stay in the city till he gets a job
(4) Theboy took loan to buy a bike
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45. Which message best suits the story?
(1) One should never give up in despair.
(2) One should buy a bike to secure a job.
(3) Itis necessary to do marketing to become successful.
(4) Ifyou fail in interview, you should go back to your family.

46. Which among the following is NOT a right statement about Wangari Maathai?
(1) She was an Environmental activist
(2) She was the leader for Green Belt Movement
(3) She was a feminist
(4) She was a native of South America

47. We should complete this construction by next week.
(1) obligation (2) pasthappening
(3) present reference (4) inference

48. As I was going to take my first sip, I heard father’s voice.
Which kind of Adverbial clause is the underlined part?

(1) condition (2) time
(3) reason (4) result

49. What qualities in Nick made him an International symbol of triumph?
(1) Nick’s bravery and perseverance
(2) Nick’s humour and wit
(3) His fear and hesitation
(4) Nick’s disability and rare disease

50. The poem ‘A plea for India’ urges for
(1) aviolentIndia
(2) astrong, united India
(3) inciting leaders
(4) selfish mothers

V-General English 9-A
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PART - 11 : MATHEMATICS

51. logtanl® +logtan2° + log tan3° + ... + log tan 89° =
| 1

(1) 0 (2) log(tan90°) (3) 1 (4) 2
52. Among the following a pair of non-disjoint sets is

808 TAS® DonE JdholHn JrDotl wE 24,

(1) A-B,AnB (2) B-A,ANB

(3) B-A,A-B (4) AUB,ANB
53. Apositive number ‘m’ is divided by 11 and leaves the remainder 6. If 4m + 5 is divided by

11, then the remainder is :

2§ SSIG Sowg M’ K 11 8 iy Fho 6 5mSo. oS 4m + 5% 118° ol 3T

FAS0

(1) 10 2) 9 3) 8 4) 7
54. Match the following :

2388 HSOTHI0.

2 &3
If sin@ = a?_ bz then
a“ +b
3 28
sin@ = a2 bz.eaowé
a +b
: o : 2ab
i) cosB = a) _——az By
3 32
% a +b
i) tanf= b) S
3 37

a -b

iii) secO = c) Yy

g 2ab

v) cotf = d) m

(1) 1i-a,ii-d, iii-c, iv-b (2) i-a, ii-b, iii-c, iv-d

(3) i-d, ii-a, 1ii-b, iv-c (4) 1i-d, ii-c, iii-b, iv-a

V-Maths 10-A
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55. If o.and P are the zeroes of x> —p(x + 1) —cthen (@ + 1) B+ 1) =
x2-p(x+1)—c Sng &ragen o, feo wowd (a+ 1) (P+1)=

(1) p*+2p+2c (2) —(1+3]

P
3) l=c @4 p

Sn
56. Ifthe mean of first ‘»n’ natural numbers is ? and the mean of first ‘m’ odd natural numbers

2

=M
is— thenm+n-=
81

S5n m*
J0EE ‘n’ e dopge BB o SoBasn J0Ed ‘m’ B dFre Jopge Ho7H0 g

®Wond m+n=
(1) 32 2 90 (3) -T2 (4) 112

57. Inthe given figure, BD is the bisector of ZABC. If ZADB = ZDEB = 90° then, which of
the following are true?

aSqasS HLos* LZABC i), 8 dS0bgpods 3p BD $8050 LADB = LZDEB = 90°
wond Bod TAS* A H8g0?

1) AABD = ADBE ii) ZBAD=/BDE
iii) AABD~ADBE iv) ZADB=ZDEC

/'/IJA

B D

E
£

(1) (), (i), (ii1), (iv) (2) (i), (iii), (iv)
(3) (1), (iv) (4) (1), (), (iv)

V-Maths 11-A
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58. sin*A—cos*A=
i) sin®A-cos’A
ii) 2sin*A-1
iii) 1-2cos?A
iv) cos’> A —sin’ A
() @, (i) (2) (), (i)
(3) (@), (v) (4) (), (i), (iii)
59. If x- L = 4 then which of the following are true?
X
x—-l—=4 ©o0d Bod TVS* A Jégo?
x
: 7258 - 1
i) X +—=i8 ii) x+—=25
x ¥
o NG 3 §3
iif) X ——5=8J5 iv) X +—=322
X x
(1) (@), (), (i), (iv) (2 (@), (v).
(3) (@), (i), (iv) (4) (), (i), (iv)
60. Ifthe mean, median and mode of the data 60, 100, x, 40, 50, 200, 90 are all equal to x, then
S SRR
60, 100, x, 40, 50, 200, 90 @3 daodo BwE), JHw, HEghdo, TTveo v x H
D3rS0 wod x =
(1) 90 (2) 80 (3) 100 (4) 110
61. Ifthe zeroesof x> —3x2 +x+ larea—b,a,a+bthena= ,b=
x3=3x2+x+ 1 Bk rargen a-b,a,a+b e wond a= e
(1) a=-1b=+\2 (2) a=1b=+\2
3) a=2,6=-2 @) a=2,b=%3

V-Maths 12-A
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62. The system of equations 2x + 3y = 7 and (a + b) x + (2a = b) y = 21 has infinitely many
solutions then a = o=
2x + 3y =7 308050 (a+ b) x + (2a - b)y 2] 83 dSédere 5553 w308 FESo
EOhosn0d8 a = ,b= >
(1) a=5,b=3 (2) a=6,b=5
(3) a=5b=1 (4) a=1,b=5
63. The mean of ‘n’ observations is X . If the first observation is decreased by 1, second by 2
and so on, then the new mean is
‘n’ ooHeo Jo°00 X . AGE 072 00d 1, BodS o073 o 2, ... aer SIIIT: H#8 SrdS
orHo BnE) So°D0.
E+(”+l] 5 x+(” 1)
() T ) :
J?_(n+l) " f_(rz—l)
@) Fopiee @ Fo{-—
64. ABCD is a trapezium in which AB//DC and AB = 2DC, then the ratio of the areas of AAOB
to ACOD is
ABCD @a=za%0 S0 AB/DC $0805» AB = 2DC eond AAOB, ACOD STogive
A8
D C
0
x B
(1) 2 (%) &1 (3) 1:4 4) 4:1
65. The ratio of lateral surface area to the total surface area of a cylinder with base diameter

1.6 m and height 20 cm is
Frargddn 1.6 o H0akn A&y 20 Ro.ab. EOAS 2.8 SpHdn QwE), SEse Irogsn
S00asn doFrdde ITogive NG

) (2 %1 $3) .15 (4) 5:1

V-Maths 13-A
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66. If F(x) denotes set of all divisors of x, then F(18) — F(12) =
F(x) %58 x B0, o) sdearose 308 dordy, F(18) - F(12) =
(1) {12, 18} 2) {9, 12} (3) {9,18}. (4) {6,138}
g 2 | 1 :
67. 1f (4)" 2 =— then the value of x =
32 ;
(%‘/Z)m% = ©oNB X eI
32
{4 k2 ~4 (3) 2 4) -2
(5x2—6x)
68 . If Iogﬁ =2 thenx=
5x%-6
log!ﬁ'-r x} =2 ®on8 x =
4+45 > —4++5 3+419 3+417
) =t (2) (3) i BT e
6 6 3 5
69. The distance between the two points where the graph of p(x) = x? — 3x —4 intersects x-axis
is units. :
p(x)=x2—3x - 4 05 250H8 BwE), Frd@o X-wESNS Podod Bod DoHe Sy
srdo CETRER. :
(H 2 2 3 (3) 4 4) 3
70. If(3,9)is a point on the line 2ax -3y =Sthena=
2ax -3y =53 Bpp (3,9) a8 Dok wond a=
iy 3 3 e 3) — 4 —
M @ 5 @) 3 @ %
71. Which term of the A.P. 3, 10, 17, ... will be 84 more than its 13" term?

3,10, 17, ... & wo¥Eds* IS Hdo & 13 S ddo go8 84 ¥y S Gotnod?
(i) "2 (2) 23 3). N 4) 25

V-Maths 14-A
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72. Tworight circular cones X and Y are made such that X having three times the radius of Y
and Y having half the volume of X. Then the ratio between the heights of X and Y is
X 00050 Y 00 Bod EH8)875°6 fosoheo, X Gl Tggo Y Sunth Déx 508050
Y Goof), o8 HBSreo X&' S0 odlty Saird BoHaddd. wand X, Yo e
S :
(1) T3 ) 2.9 (3. 32 4) 9:7

73. Iftan@ + sinB = p and tan® — sinB = g then p? — g% =
tan6 + sin = p So0cs tand - sind = g woxd p? - 42 = |
(1) 16ypq (2) 4pq (3) 16 pq (4) 4pg

74.  Asphere of radius 3 cms is dropped into a cylindrical Vessel of radius 4 cms. If the sphere
is submerged completely, then what is the increasing level of water (in cm)?
3 0.0, Tgrgo KOAS wE Fed), 4 0. o Tgrgo HOAS o8 SpIrsd FFS*
O S0 IDSLoN8, & JrIed FFSD AB g0 Jod I DKHHE0E?
(o.d.ee5?)
(1) 2.35 (2) 2.30 3)-225 (4) 2.15

75. Ifn(A-B)=16,n(B-A)=10,n(ANnB)=5, then n(A UB)=
n(A-B)=16,n(B-A)=10,n(ANB)=5w008 n(AUB)=
(1) 16 2) .10 3) 31 4) 15

76. If the sum of the squares of the zeroes of the polynomial f(x) = x2 — 8x + k is 40 then the
value of ‘&’ is
f(x) =22 = 8x + ko3 2dodd frarge Sore Iwgo 40 wond k =
(1) 10 () 16 (3) 14 4) 12

77. Ifax+by=a*-b*andbx+ay=0thenx+y=

ax + by = a® — b? 556050 bx +ay =0 wond x +y =
1) @-p @) b-a 3) a-b @) @+8

V-Maths 15-A
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78. Inanacute angled triangle ABC, iftan (A+B—-C)=1andsec (B+C—A)=2thenA, B and
C are respectively 2 :
vonE'e @hzo ABCs* (A+B-C) =1, sec(B+C A) =2 @008 A, B, C deoden
S&[m 4 :

Bl IR S  Sekowy 3

(1) 52— 67— 60 (2) 67—5 522 , 60°
(3) 60°, 52% 67l (4) 60°, 67 4 52%

79. The region consisting of all points in three-dimensional space with in 3 units of the line
segment AB has volume 2167 cu. units. What is the length of AB? (in units)
28 O poddo AB Sty @:)J@oéoon‘ 3 5y Srdsns® &f) o) HodYHod
EOAS (@odin @), HSHoSreS0 216 Hoickhrn wond AB B, FEH Jos?
(0S0rQee5°) :
(1) 24 2) 20 (3) 18 4) 12

80. InAABC, ZA=90°, AB=5cmand AC=12cm.IfAD L BCthenAD= cm.
AABC&®, ZA=90°, AB=5cm. 508050 AC=12cm. AD L BCoond AD =
0.0,

13 60 13 215

4y 5 G5 & = oy ——

81. From the given figure the relation between x and y is

aYYS HLo $0d x B y o Hgg dowodo
B C 43 B

(1) x+y=135 (2) x-y=2 (3) 2x+y=10 (4 x-2y=6

V-Maths 16-A
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82.

Which of the following are correct?
808 TS DB H8g0?

8) BcA=AUB=A

b) B;A-:»AﬂB=B

) WUW)NZ=N

d AcCBBcA=A=B

(1) (@), (b), (), (d) (2) (a),(b), (c)
() (@ (b),(d (4) (@), (), (d

83.

The area of the equilateral triangle formed by the vertices (a, a), (~a, —a) and (—\/ga, s@a)
is $q. units.

(a,a),(—a,-a), (—ﬁa,\ﬁa) DothHeod %c;mn" BOAS Sdoerdv |Bgha 3T g0
ool

(1) 4x/_’7ﬂ2 (2) 2\/§a2
(3) 834’ 4 63

84.

If the points (p, g), (m, n) and (p — m, g — n) are collinear, then
@, ), (m, n) , (p —m, g — n) DoHHeo FEPoSren vond
(1) pm=gn (2) pm+gn=0
() pn+tgm=0 (4) pn=gm

85.

Three vertices of a parallelogram ABCD are A(3, —4), B(-1, -3) and C(~ 6, 2). Then the

- area of the parallelogram ABCD is $q. units.

ABCD &57088 iSéod:an R, Sord %‘c‘w A(3,-4), B(-1,-3), C(—6 2) ®o08 &
NSO 1o fSe‘i)d)gzs STego LuoSaeil.

15
(1) 15 (2) B}
(3) 30 (4) Data is insufficient ($&ro¥o $0F¢0)

V-Maths 17-A
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86. The difference between the areas of a sector of angle 120° and its corresponding major

sector of a circle of radius 21 cm is cm?.

21 "wo.tp! Tgrgor o wf HFos® oo S 120° 'mo Baofo vey SHE pod
STO 8N 00N T VETD VY 5E pod ITeogive Fo _ Wivo.do.
(1) 147n 2) 294 (3) 462 (4) 441n

87.

In the figure, if PQR is the tangent to a circle at Q whose centre is ‘O’, AB is a chord
parallel to PR and ZBQR = 70°, ZBOQ = 140° then ZAQB =

H&0* ‘O’ Bo@orr o 508 Q 5§ PQR 2.8 5409 PRE ddrodsor AB o =g,
Sobaosn ZBQR =70°, ZBOQ = 140° woxnd LZAQB =

K

Oy

P
<

v

P Q R

(1) 20° (2) 35° (3) 40° (4) 45°

88.

The angle between two radii of a circle is 130°, then the angle between the tangents at the
ends of those radii is

w8 S)foess* ok Tgroe oEgE@o 130° ®ond TrTo I8 DoHo 5
AchdS HGidpe Egsmo
(1) 40° 25 ¢ (3) 70° (4) 90°

89.

If the roots of (b — ¢) x2 + (¢ — @) x + (a— b) = 0 are equal then
(b=c)x* + (c—a) x + (a—b) = 0 B, Soreren SSrT e ©o0B
() 2b=a+c (2) a+b=c

(3) a+b+c=0 (4) b*=ac

V-Maths 18-A
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90.

If the sum of the roots of the equation 5t —(k+8)x+2(2k—-1)=0 is equal to half of
their product then k = .

X2 —(k+8)x+2(2k-1)=0 o3 388w Sorore 3ndo, T8 oxos® ddo &od

k= :
i) 1 () 6 (3) 5 (4): 9

o1.

If one root of 4x2 — 2x + (A — 4) = 0 be the reciprocal of the other then A =
4x2 = 2x + (A —4) = 0 D), 2.8 Soredn, Ho678 Sorerds Hgi),S00 wond A =
(1) 4 2 (3) =8, i (4). 8

92.

The middle most term of the A.P. 7, 13, 19, ..., 247 is
7,13, 19, ..., 247 0 ©08RRS* Soggdso
(1) a,,=121 (2) a; =127 (3) ay= 127 (4) a, =133

93.

If k2 + 4k + 8, 2k* + 3k + 6 and 3k* + 4k + 4 are the three consecutive terms of an A.P. then
R Dot

K2+ 4k + 8, 2k% + 3k + 6 200050 32 +4k +4 o0 AP Sordo S50 Soreownd k=

1) 0 @ 1 3) -1 @) 3

94.

The sum of all the odd integers between 2 and 100 divisible by 3 is
2 $0005n 100 Sogghe Frg dopges® 3B Jghdom rhodedd 2D Ig dopge Ingo

(1) 1683 (2) 867 (3) 1734 (4) 3366

95.

An observer 1.5 m tall is 28.5 m away from a light pole. The angle of elevation of the top of
the light pole from his eyes is 45°. Then the height of the light pole is metres.

1.5 EHRe 28 H020 % .8 8D gowo $od 28.5 D Brdoss® Tk, ©sd ol
008 & B Howo S 45° ey Feo D) & &D Howo IK 20L&
(1) 288 6y 2 (3} 31.5 (4) 30

96.

The shadow of a pole standing on a even level ground is found to be 40 m longer, when
Sun’s attitude is 30° than when it was 60°. Then the height of the pole is metres.

S &) Jow fe 2.8 Qowo, Srdog&® 60° G&igsgssao BoS5Dycko 808, 30° éagg‘é‘eao
BOSDE 40 . ST T A FEHK EON w08 © gowo & .

(1) 2043 2) 3043 (3) 4043 (4) 1043
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97.

The angle of elevation of the top of a hill at the foot of a tower is 60° and the an fle of
elevation of the top of the tower from the foot of the hill is 30°. If the tower is 50 m high,
the height of the hill is metres.

28 LI wdbderio L0d o8 Fod 3pdo 60° &gl Sevo BS0HB. Fod edrrrio
S008 ©56 D FS 30° e S'wo BanHHB. LSE I8 50 . w008 Fod I
8. :

(1) 100 2) 5043 (3) 150 (4) 15043

98.

Two dice are thrown simultaneously. Then the probability of getting the sum of the two -
numbers appeared on them is a prime number is

Bodd DDEen D SBotnAID. YK & Bolodl SogroD Sy Sok Jopge
Sodgo 2.8 PES Sdopg L% Ko Sogrsgd
10 12 14 15

(y 5 2 = i Ok

99.

A bag contains 12 balls, out of them “x’ are white. If 6 more white balls are added to the
bag, the probability of drawing a white ball will be doubled. Then x =

w8 H0DS* do 12 woded’, X’ podhen BAD. HE 6 By wododH & HodS*
35008, & S0 ol o B w08 BNLY Ko Jozrdgd BBoH wH&od.

®oNd X = ‘
(). 3 (2) 6 3) 9 4) 4

100.

A number ‘x’ is selected from the number 1, 2, 3 and then a second number ‘y’ is randomly
selected from the numbers 1,4, 9. Then the probability, that the product of the two numbers
(x and y) will be less than 9 is

1,2,3 o3 Sopge 08 ‘X’ &I dopgds Hocin 1,4, 9 o3 Jopgo Hod dSrSygor
‘y’ @I Bopgd IZ)FSoL 20M08. wond © Tokh dopge (x Bk y) ewo 9 §od
ééozrém Gododody e 5602.:!"586

4 5 7 3
@y @ 3 @) .z @ 3
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PART -1I1: PHYSICAL SCIENCES

101. Ablock ofice at—10°C is heated and converted to steam at 100°C. Which of the following
curve (graph) represents the phenomenon?
—10°C 3g&08) 2.8 Sooth Sog), I&VJ: 100°C $¢ A& oS0 Srd)dod. & JAcSr)
808 J3rdod V- Hire (THS* 8 JrdR0H?
t°C
f o O
(1) rc (2)
Heat Supplied > Heat Supplied —»
©080DS @#j0 > ©ododd dHo —
1 !
@) e 4) rc
Heat Supplied —» Heat Supplied —»
©oBodS wgo - ©0B0dS Bjo >
102. How much of heat energy will be consumed to convert an ice block of 5 gm at =5°C into
water vapour at 100°C?
(1) 612.5 cal (2) 3612.5 cal
(3) 61254 cal (4) 621.5 cal
=5°C 3¢ $o8) 5 gme S0 Sw§ S 100°C ¢ A8 aSrddm Srd)erds dod &Rds
AA@rRotads0b.
(1) 612.53&°6en (2) 3612.5 8&5*6ex
(3) 61254 8s5%°6en (4) 621.53s5%6en
103. Which of the following will allow fast evaporation, (Liquid and thermal conditions ar

same for all the four)
Bod IS* B Hood Ko rRFESo 2RS08. (TQoBS H wBEEIS (G0

So8asn ﬁgéat’ge‘é&m g0d)

(1) [ (2)
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104. SI unit of specific heat is

3PRoI SI Pireren

(1) JkgK (2) JkgK (3) kglJK (4) K/-kg
105. Statement 1: ~ Condensation is a cooling process.

Statement 2 :  Evaporation is a cooling process.

(1) Statement | only true, 2 is false (2) Statement 2 only true, 1 is false
(3) Statements 1, 2 both are true (4) Statements 1, 2 both are false
g0 1: Fo|\QE8w0 2.8 23088 P8.

TEg0 2 TRESSo o8 23DECe BB

(1) arggo 1 3850, 2 &d&g0 (2) aEgo 2 dégo, 1 @ddgo

(3) arggdoen 1, 2 Bodr S8g0 (4) arggdwen I, 2 dodr wddgo

106. An electric bulb and a screen are placed on table in a line at a distance of 100 cm. To geta
clear image of bulb where we need to place the convex lens in between screen and object
(Focal length of lens is 16 cm)

(1) 60 cm (or) 40 cm (2) 30cm(or) 70 cm

(3) 80 cm (or) 20 cm (4) We can’t determine

TS Ie0rHEd) a8 DBgs wegy HboH 8% 8T AEES 100 o.X.0 drdos’
GoTo. 28 g 2 igéoe‘)“ 8o0ars 8 EL5R) Godd wey) G, NJIS H8Dowr)

B8 D& Dodneo (E&rE Fegosso 16 200.20.)

(1) 60 0. (Bz°) 40 o.a» (2) 30 0.2 (Bo) 70 0.0
(3) 80 0. (Bz) 20 No.a»d (4) B odo FHosBo
107. | Material Medium A B C D
Refractive Index 1.63.] 133110003 ] 1.5
From the above table in which material medium the light travels faster than the remaining
three
Horg oSrdgo A B & D
8535 Koeoko 1.63 | 1.33]1.0003 | 1.5
D D88 Sod Q éﬁ'goﬁrééoé‘ 5708 ADS Jordodd B SKorr HASredod.
(1) A (2) B (3) C 4 D
108. Speed of light in vacuum is
(1) 3 x 10® km/hr (2) 3 x 10% m/sec
(3) 3 x 1078 m/sec (4) 3 x 10" km/hr
Frdgoes* 5708 BKo
(1) 3 x 10%&./Ko. 2) 3x 10
3) 3x 10/ (4) 3 x10%8.20/50.
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109. Which of the following is not an application of Total Internal reflection?

(1) Mirages (2) Optical fiber
(3) Thermite process (4) Brilliance of diamond
808 TRS* A0 JoFToss JHTIETNE whSENe 5k?
(1) RoddSrHen (2) o85S ab
(3) THE 2g8 (4) Sero PBsdo
110. Snell’s law
S dorgo
(1) —fiif=fnz- (2) msini=n,sinr
sini sinr
m _ sini i g
3) Z b 7 8 (4) mnysinr=n,sini

111. Abird s flying down vertically towards the surface of water in a pond with constant speed.
: There is a fish inside the water. If that fish is exactly vertically below the bird, the bird will
appear to the fish
(1) Farther away than it’s actual distance, lesser than it’s actual speed.
(2) Nearer than it’s actual distance, lesser than it’s actual speed.
(3) Farther away than it’s actual distance, greater than it’s actual speed.
(4) Nearer than it’s actual distance, greater than it’s actual speed.

B850 &) B FEYS B GBOEwo HIT Loworr P& SES° BoSK HaSre08.
H88 wowormr JABS* 2.8 VD o8, ¥ VDK H§ od)ty E2)08.

(1) & oden FSo EoB &rdomrs, 95 o £ S59,5 M0’ Ehendod.
(2) o wden FBo 0B EEMSs, Y Io ) 8893 08’ ELrE0B.

(3) T wden FSo 0B Srdorrsd, RS o K7 S IKos* Eenddod.

(4) & ol Fdo ¥oB Sfem, TYS o L) S IKos* Edvendos.

112. If an object is placed at 2F, before a convex lens then which of the following is true?
(1) It forms virtual, equal size, erected image
(2) It forms real, enlarged, erected image
(3) It forms real, equal size, inverted image
(4) Itforms virtual, enlaréed, inverted image
2.8 $0ar58 ELSI8 S0l 2F, 8¢ w8 S99 ¢odd §od TS A6 18507
(1) ©86 Frg, SBrsS HOSrw0, TS PEDoNo BSOS
(2) o8 Jz, VLIS, I HBNoWO IBYEWIK
(3) ©8 dz, JSrSTS HoSrwo, doBoren HEN0WO BB
(4) o8 g, YIS, doBotoen H8NowO YWD
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113. Statement 1 :  Any ray passing along the principal axis is always deviated.
Statement 2 :  Any ray passing through the optic centre is also deviated.

(1) Statements 1, 2 both are true (2) Statements 1, 2 both are false
(3) Statement 1 is true but 2 is false (4) Statement 2 is true but 1 is false
FEgo 1: RoTo Joad HSrBod Q 5708 EaT Jboso Bok&od,
FEgo 2: §8 &)§ oo Mot HaSrod 5708 880 Sre ISoso BokEos.
(1) orggo 1, 2 Bokr Begdb (2) &8go 1, 2 Bodr wddgd
(3) &8go 1 J&go, 2 ©d8g0 (4) or8go 2 J&g0, 1 ©d8g0
114. The range of focal length of eye lens of healthy human being is
() 227cm-25cm (2) 227cm-25cm
3) 22.7cm-25cm (4) 25cm-22.7cm
SEHgE0HTS SrSY Kol ELE TYES TR
(1) 2.27 Do.ab. - 25 Do.ab. (2) 2.27 wo.. - 2.5 Do.ab.
(3) 22.7 Do.. - 25 Do.d. (4) 2.5o.. -22.7 Do..
115. Select and match correct combination.
A) Myopia K) Short sightedness, concave lens used for correction

B) Hypermetropia L) Short sightedness, convex lens used for correction
M) Farsightedness, concave lens used for correction
N) Farsightedness, convex lens used for correction
POAHK TPAA Jo), 2EDETLEN.
A) T8 K) &88 o8Q srdiiofido, Iadath Jirs s §LsR) Jdbo
B) &% &y L) &8 o8 drdtendo, AT dnd Sogrsd §L5e) Jdto
M) &r8o 8 Srdieondo, T sy YPLrs s §LE°Q) adto
N) &rdo o8 Srdferdo, dardets §0as s §L5°R) Tdto
(1) A-K,B-M (2) A-K,B-N (3) A-M,B-L (4) A-M,BK

116. Refractive index of medium A = 1.3, refractive index of medium B = 1.5. If light travels
from A to B which of the following will not change?
(1) Frequency (2) Wavelength
(3) Speed (4) Both frequency and wavelength
oSrSEo A Gng), SEFSS ko = 1.3, alrdo B @wE), SBFSS Koo = 1.5 5°08.
A %00 B &°8 (H0573:508 (808 TAS* 28 S5578¢0?
(1) &8:HSgo (2) édoﬁ@_gso
3) £& (4) ZE:pSgo das» oK BEgo Dok

117. At which angle of scattering the intensity of scattered light is maximum
D D08de F'mo HY H0FH0 5708 |58 wEgHET Goinod.
(1) 0° (2) 30° (3) 90° (4) 60°
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118 . The colour of the inner most cone of rainbow when it forms cone shape from the tip at an
eye is
(1) Red (2) Violet (3) White (4)" Black
S0 5¢ FopoPHm JAS R0|BEHDRY DY), ©odE Fogd) Roof), Boy
(1) A% (2) sodoit (3) 8end) (4) Send
119. Find the value of ‘i’ in the circuit given
(1) 30amp
(2) 3amp :
(3) 0.1amp -
_(4) 0.3 amp e R 300
2 Sochod® I’ Jend EHFSod.
(1) 30 esodo%d e
(2) 3 wohoH& 300
(3) 0.1 sodoHd
(4) 0.3 soboHd
120. Amount of current that passes through a body more than 1 second that may cause even
death is
(1) 0.00001 amp (2) 0.0005 amp
(3) 0.001 amp (4) 0.07amp
S5 #8680 Jood 1 1B EIm) KB DY Sodo Aogd DIy Hbwo Sra
D0 oSS,
(1) 0.00001 e502058 (2) 0.0005 esoHcsocd
(3) 0.001 eodasocH (4) 0.07 sohaid
121. Keeping the length constant and cross sectional area of a conducting wire is doubled then

it’s resistance

(1) doubled (2) halved

(3) nochange (4) become zero

FEIB o $od o8 FHE 8 QwE), HEFWE ITogo o BY T Ao

(1) B3&GodKS (2) HKSorS
(3) S8 (4) HSgoBaKB
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122. The magnetic lines in the figure indicates
- (1) If there is no flow of current then only magnetic lines form around the conducting
wire.
(2) Ifthe current flows vertically upwards (out of page) through a conductor then magnetic
field lines are in clockwise.
(3) If the current flows vertically downwards (into page) through a conductor then
magnetic field lines are in clockwise direction.
(4) If the current flows vertically downwards (into page) through a conductor then
magnetic field lines partially clockwise and anti clockwise also.
H&0S* oA od Tpen 8d0d
(1) Deogd Pardro Bdtond wiyd SrE@d 84 Wiy 9008 Jpen JE)Ea ow.
(2) 2E3¢ DS IYIeLH™ D8 (LIE DoHLK) TFTEo Mom I WIS
S¥we Tpen J5gHFS* odrow :
(3) 283¢ DBogS Bos BIM (b6 SHos) THEo KHor HoSrSEH oI 08
S8 Open 35564eS* odrow.
(4) 2E3¢ DogS 8ol BFm (DHE &*598) o KHom HoSred R VoI od
Sgwe Tpen Ff¥or IS5, rEEomr wdISy BFS Goirawn.
123. Let ‘0’ be the angle between direction of current and magnetic field and it is 90° then force

acting on the current carrying wire is given by

DES PTT BFK, wonIyod B BEFH SggEeo O’ 050508 o0 Jdend 90°
vond, vdyd TrE 8K HATW® weo =

(1) I=FLB (2) Zero (3) F=ILB (4) B=IFL
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124. “The induced current set up in the coil is in such a direction that it oppose the changes in
the flux” is stated by

(1) Faraday (2) Lenz (3) Oersted (4) Ohm

“BrBYS* VDPTIT Srdydo Sg8080E HIS' (W IgE PWTT0 Gonod” ©
8.

(1) > @) BoE () woo6pE () &5

125. Which of the following statement is correct

(1) Sliprings are used in AC generator to convert electrical energy into mechanical energy.

(2) Commutators are used in AC generator to convert electrical energy into mechanical
energy.

(3) Sliprings are used in DC generator to convert mechanical energy into electrical energy.

(4) Commutators are used in DC generator to convert mechanical energy into electrical
energy.

Bod aYS TIS* JBFS aEgo

(1) AC=83L8 2éogi)8 oD@ B Srdos® Db TEe .

(2) AC 23306 ddogi)§ doHo@8 B Srdios® slargBlhd Tded.

(3) DC 2838 osro@8 480 DEGHEM Srd)bros” HdBofien TEe .

(4) DC 28368 airo@8 #83 DSgH)Em Srdibos® sdngBlgid Tdard.

126. Which of the following gases dissolve in water make the solution acidic.
808 TES* D TosHYen VBS* EBASHG Bl ESmoH IEYESH.
A). CO B) Ca0 C) - 80, - By NaO
(1) (A)&(B) (2) (A)&(©) (3) B)&(©) 4) (©&(D)
127. Reaction between Zinc metal and Conc. Sodium hydroxide produces a gas. Which of the
following property shown by the produced gas
(1) Rotten egg smell (2) Turns lime water milky
(3) Supports combustion (4) Burns with POP sound
20§ &'Fro $oBain mE Fdado TEFHE ¢y $85 w8 TANHH GEG Bd08.
808 TES* D GG0 GE)8 VoHag FaiY TG HEB)TDEISE.

(1) So&)d 's"&@cﬁg TN, (2) 208D 8L olB SrdH.

(3) STTIE g adod. (4) &9 03 F08" Jodéod.
128. Nature of Antacid tablet is

(1) Neutral - (2) Mild acidic (3) Strongacidic (4) Mild basic

GotTrhs KHdE (é.r?m:éﬁ_) RB0E), ésap*;‘io

(1) &&go (2) Jgoy vl Jgerso

(3) @od w HErdo (4) S50y £ dgErdo
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129. Ca(OH), + CO, — CaCO, + H,0.
Which of the following statements are true for the above reaction.
A) A metallic oxide reacts with a non-metallic oxide to produce salt and water.
B) Itis a neutralization reaction.
C) Ametallic hydroxide reacts with a non-metallic oxide to produce salt and water.
D) Anon-metallic hydroxide reacts with a metallic oxide to produce salt and water.

) @only (2 B®&OC) G) A®BE&D) @ ©&D)
Ca(OH), + CO, — CaCO, + H,0.
D S6g5 Jon0fod Bod TEFRS D HOGSD.
A) 28 S5 gfb, o8 OS'T FES SEETs oS0 HOW AN GEB BoA.
B) =28 ¥ 6&:&&5@ 11
C) 28 &' TEPH0, o8 0S'S BES SE3T0d olwo HBN B &8 BRoB.
D) o8 oS5 TERHE, o8 S «HES $63T08 oSwo 0o KNI B BRos.
() A)s=gd (2) B)&(©) (3) (A),B)&([D) (4) (C)&(D)

130. Find the wavelength of a photon in centimeter whose energy is 3 x 10" % erg. (h=6.626 x
10?7 erg. sec, C = 3 x 10'° cm/sec.).
3 x 10"3;)§0 ¥§ o o8 P DY), édoﬁ@%oa’n oo EHRS508. (h=
6.626 x 10727 82850, C =3 x 10'% 0.0/ 0EL)
(1) 0.6626 (2) 6.626 (3) 66.26 (4) 662.6

131. Which of the following diagram violates both Pauli’s exclusion principle and Hund’s rule?
808 adyd Sirod® I8 Fd S¢S oo S0N FVos JAcSrer Bododd

€0000008.
(G0 i O % R @ (T 1yt
3G I Yt @ N [T
132. Which of the following four quantum numbers represents differentiating electron of sodium
atom?
808 F8¢° FBafo HESre0Y B0, BordE JdoESsH @8ISg HES Teorhd sgo&0
Sopgen JD?
(1) n=30=0m=0m, =+ @ n=31=2m=+lm ==
(3) n=21=1m=0m =+ (@) n=3I=lm=+lm =+
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133. Which of the following statement is not true?
(1) Lightis an electromagnetic wave.
(2) Electromagnetic wave is a mechanical wave.
(3) Electromagnetic waves are transverse in nature.
(4) The speed of electromagnetic wave is 3 x 10'° cm/sec.

80 Tsgos® K858 58 28?

(1) 5708 a8 doglchar o8 ddolio.

(2) dBgEaHI 08 Sboffo w8 oSrol@8 ddoto.

(3) DBogEcSHaA 08 SSormren 88gE SdoKfo LT ) A Gotraw.
(4) dogBoDHam o 8ok Fo 3 x 10190.do/wER.

134. ‘n’ and ‘I’ values of four electrons given below.
Identify the correct arrangement of increasing order of their energy levels according to
Aufbau principle.
Tl JOEFRO ‘N’ $8c5n I Jenden Bod astagron. v F° Jchdo sgrdor T8
Goof), ¥§ oo 0GOS DhHEL Fd 92088k HYowod.
A) n=4,I=1 B) n=3,I=2 C) n=4,1=0 D) n=5,1=0
(1) B<C<A<D (2) C<B<A<D
(3) D<C<A<B (4) A<B<C<D
135. Regarding modern periodic table which of the following statements are incorrect.
A) The valency of 18% group elements is ‘0’.
B) Elements in same period having same number of valence electrons.

- C) Except hydrogen all the S-block elements are metals.
D) As godown in a group the metallic nature of elements decreases.

B8 B5ES HEELH Sowodod Bod TGRS’ HOGND 5°AD DI?

A) 183 Hry Sorosre Jodrzsd 0

B) 23 H0c%0566* do Srese o o) JoFgSeoss §0A Gotrow.

C) TE=S 83y DS S-ers Swrostol) S

D) @rdods® Bobs Fdh Fol Srose S'F derso $KHE0s.

(1) (C)& (D) (2) B)&(C) (3) (B)&(D) 4) (B),(C) & (D)
136. Which of the following pair of Ions have different number of electrons.

Bod T8 B Jopgs® JoEgSesH SOAS voirse zd JB?

(1) Na*, Mg* (2) CI";Ca** (3) F,Na* (49) HY,Li*
137. Which of the following chalcogen family element belongs to 4% period.

(1) Tellurium (2) Selenium (3) Sulphur (4) Oxygen

808 8e* 45 HBcHER BodS FTSYaS Sodon Sorwko 287?

(1) Berdoho . (2) OO0 (3) %6 (4) e8=s-
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138. Predict the atomic number of the element belongs to 3 period and 14™ group.
35 58008 S08050 145 B8 BodS Sored H6Sre0 Sopgdd eirotod.
(1) 6 (2) 16 (3) 14 (4) 13
139. Which of the following molecules do not contain a triple bond.
808 wenHos® @Enogo BAD AD?
A) C.H, B) NH, C} ‘N, D) HCI
(1) (B)& (D) (2) B), ()& (D) (3) (A)&(D) (4) (A),(B)&(D)
140. Molecular formula of a metallic carbonate is X,(CO,),. Then the molecular formula of its
phosphate will be
w8 S SIS B, vmoFrdne X,(CO,), wons o IRl Gng), v e

(1) X;PO, (2) X(PO,), (3) XPO, (4) X, PO,
141. In which of the following central atom does not follow the octet rule.

Bod TAS* BIS* FoBE HESreNY OPHE AcHBErY) FBoBeo.

(1) 2%, (2) CH, 3) CH, (4) NH,
142. Number of Lone pairs, bond pairs present in ammonia molecule

OIMIET VeIS® o 2008 2obren, woFE zobe Jopg

3.1 (21 1.3 3) 2,2 4) 1,2
143. Arrange the following metals in the increasing order of their reactivity.

Calcium, zinc, Mercury, Copper, Sodium

(1) Mercury < Copper < Zinc < Calcium < Sodium

(2) Sodium < Zinc < Calcium < Copper < Mercury

(3) Copper < Zinc < Calcium < Mercury < Sodium

(4) Sodium < Calcium < Zinc < Copper < Mercury

Bod S0 8 Sorgied O Eos® elodod.

5*9a%0, 20§, FE8do, 5756, FFdako

(1) &>d8d0 <536 <2of <sdcho < F&ado

(2) ®&owo <2of <5cho < 5B6 < FEED0

(3) 506 <2o§ <5daho < FEEB0 < F&aho

(4) &*&csho < 5*dod0 <2of <58 < FAEJ0

144. Which of the following method is not used for purification of crude metal.

(1) Poling (2) Froth floatation

(3) Liquation (4) Electrolytic refining
Bod TES* S'THHE GBArAOBI HES 6?

(1) Ok (2) 258 Do

(3) Heodo Badbdo (4) Deogs TGS
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145. Which of the following is a carbonate ore

Lime stone (4) Rock salt

DoHPoow  (4) oErS

Aluminium
Magnesium

(1) Pyrolusite (2) Magnetite (3)
Bod TAS* SIS TEYH A8?

(1) porgps (2) KBS (3)

146. The reducing agent in thermite process is

(1) Carbon 2)
(3) Carbon monoxide (4)
S PIBcSS” EoEde 5880

(1) & (2) oorgIohe (3)

sEHIIrTHE (4) Jhyadcio

147. Which among the following is/are unsaturated hydrocarbons.
808 TAS* wdod)) TETEHS AD?

a)
(1)

C;Hg b) CHy c) GHp,
(), (&) (2) (a)&(b) (3)

& CH, G i
(b) & (d) (4) (d&(e)

148. The formula of methanoic acid is
&EStonE esa’)go R, r;)'cbée::‘

(1)

HCOOH (2) CH,COOH  (3)

CH,CH,COOH (4) C,H,OH

149. Which one of the following can show isomerism?

Bod TS weoRrd)fgod HEG WIS I8?

(1) HO (2) BeCl, (3) NH, 4) CH,
150. Choose the correct matching.
Chemical reaction Name
a) CH;COOH +NaOH——CH,;COONa+H,0 i) Esterification
b) CH,=CH,+H,0—2%% ,CH,CH,0H i) Additionreaction
¢c) CH,+Cl, M—)CH3C1 +HCI iii) Neutralization reaction
d CH,COOH +CH,CH,OH —=H230 , iv) Substitution reaction

CH,COOCH,CH, + H,0

HOG0S BESGHMLR JF0s.

a)
b)
c)
d)

(1)
3)

50 S8

&

CH;COOH + NaOH——>CH,COONa + H,0 i) 2653848

&1B\8ko
CH, = CH, + H,0—2=— CH,CH,0H

CH, +Cl,—=%"® ,CH,Cl+HCI
CH,COOH + CH,CH,0H —T¢H250¢

CH,COOCH,CH, + H,0
a-iii, b-ii, c-i, d-iv )
a-iii, b-ii, c-iv, d-i 4)

i) Sofeod Sy
ii1) ééofgédea S8g
iv) (©88de S8

a-iii, b-i, c-ii, d-iv
a-1, b-ii, c-1v, d-iii
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